
 

MATHEMATICS WORKSHEET 

PROBLEM SOLVING SUMS 

The cost of a box of pencil is Rs. 185.00.  The cost of notebook is Rs. 200.00.  How 

much more does the notebook cost? 

 
 

 

 
 

 

 
 

 

 

Sam and Tim have a stamp collection album.  Sam has 109 stamps in his album.  Tim 

has 144 stamps in his album.  Who has lesser stamps?  How many less stamps does 

he have? 

 
 

 

 
 

 

 
 

 

 

A school bus accommodates 92 students.  There are 100 students who want to ride 

the school bus.  How many students will be left out? 

 
 

 

 
 

 

 
 

 

 


